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OLABH(HEMAHRESEEI})
13,0002 *5305 6,890
= 2,067
Al 4,823
O=&HM =24 100, 0002 *4205=+70% 29,400
& 8,820
Al 20,580
FZL=E 2 17,250 26,850 A9,600
= 5,175
Al 12,075
307 2I2+0l™ 9,000 26,850 A17,850
= 2,700
Al 6,300
02 QIRHEAAIH B X 9,000 26,850 A17,850
O2&E Hl 600, 0002 *305=*50% 9,000
& 2,700
Al 6,300
402 IZER=0I1H 8,250 0 8,250
= 2,475
Al 5,775
03 SIS AL I 8,250 0 8,250
OR+EN 33 15,0003 *1, 1005 *50% 8,250
= 2,475
Al 5,775
IIEMoHEE 117,500 130,000 212,500
& 23,500
Al 94,000
301 LetEEZ 117,500 130,000 212,500
& 23,500
Al 94,000
14 J|EI2 43 117,500 130,000 A 12,500




A= sg)|=dH S =
T HEFMZMH L5
ol Sehatrd 54 (SH9 H2)
42 RA - ZB . G9(3D) - HRAMY - BYS Ol & A HlmE2t
OIIEMAEE ol XA
117,500,000 14! 117,500
< 23,500
Al 94,000
SHMSOHME 156,480 112,960 43,520
J| 67,360
== 17,824
Al 71,29
307 212t01 ™ 156,480 112,960 43,520
7l 67,360
= 17,824
Al 71,29
02 QIRHHAAIHE X 156,480 112,960 43,520
OSHMSOMME (et) XA
320, 0002 x680 7 0% 152,320
7l 65,280
== 17,408
Al 69,632
OStMSOME (B3Y) XA
320, 0002 13 x100% 4,160
] 2,080
== 416
Al 1,664
SAMAIE JDetd HH XA 2,700 2,700 0
= 810
Al 1,890
402 QIZEGHE01 A 2,700 2,700 0
= 810
Al 1,890
03 QIZHRErAL ] 2,700 2,700 0
OSAAIE HD|otd BHH
200, 0003 * 1574 2 *90% 2,700
= 810
Al 1,890
St SO0FKl MAOHY 1,500 300 1,200
= 300
Al 1,200
402 QIZERGHE01 A 1,500 300 1,200
= 300
Al 1,200
03 QIZHREFAL ] 1,500 300 1,200
OSO0tAl AR JHSXIR
20,0002 * 1505 +50% 1,500
L= 300




A= sg)|=dH S =
T HEFMZMH L5
ol Sehatrd 54 (SH9 H2)
Al = X o|(5 = dMEE =
A2 2A - B 9(3) - HIRAY - BES ol k4 S HlmE2t
| Al 1,200
A HFAMC 4 XA 20,000 20,000
402 BIZHR=0l M 20,000 20,000
01 QIZERH2 AN 22 (REAITH &) 20,000 20,000
O Al 2 L ZHl - JIAHH 72 X
& 20,000, 0003 24 2 x50% 20,000
S4&E oM ErS 2| 2,140,660 3,128,8%4 A988,234
= 668,150
| 93,307
& 272,333
Al 1,106,870
IIEEEE WS N2AMSE 124,500 159,110 A34,610
201 Ler2 | 15,900 20,810 24,910
01 At 22|l 12,900 16,610 A3,710
OJsdgY 229 WS
3,000,000 14 3,000
ONFLAINX 2el=X
600,000 & *63] 3,600
ON=sgA=3 3,000,000 *14] 3,000
OJI=dgY IHS&H 29Xtz
660,000& *53| 3,300
02 324l 3,000 4,200 21,200
OJ=2Y dHA=8 EERZE &1 29
] 250,000 =12 3,000
206 =8l 57,400 64,400 A7,000
01 =Yl 57,400 64,400 A7,000
OJISEIFA HEAS 10,0002 #3504 3,500
O, Za GtE)| 75 & g3
20,0003 x420& 8,400
O ARHEY UAZE
20,0003 320 6,400
OHX, & 272 Heg4S
60,0002 * 1504 9,000
O=4Y S0z 2 MEI] 2AH
15,0002 70022 10,500
Oot&)| Roll75 Al
10,0002 x660H 6,600
OJisdgyyM 21gaE (s, A, X
&) 3,000,000 23 6,000
OstdgY Hgss 20,0002 *2004 4,000
Olisgdes d9= 5,000 600 3,000
301 LPENZ 51,200 73,900 A22,700
11 HAIAHIXIAZ 1,200 1,200 0
O3=2 Bus 150,000 *4 Y +23] 1,200
14 J|EI2 A3 50,000 72,700 A22,700




I =HIEH 2 0 =AM
HEAAY
st ot ey e &)
SA BB BI(B) - MRAE - B A HIDEZ
ogag o
1,000 %10,0005 10,000
O+ HIS
5,0002!+8,0005 40,000
sgldd 28 49,820 82,620 A32,800
201 €et=ad 29,820 52,620 A22,800
01 AtR2t2ld 10,700 13,500 22,800
Og ety 80,0003 *25H 2 2,000
O%d2lch = 7Y
2,500,000 %14 2,500
oSt 50,0002 *4CH 200
O=AMAS
3,000& +2,000%& 6,000
02 35244l 19,120 39,120 A20,000
OXS A 100, 0002 *4CH 400
d=t &
90,0003 *4CH 23] 720
OXsxt 282 500,000 =4CH 2,000
OX&dIl & Al S8l 84
500,000 *4CH 2,000
OIEL AR
3,000,000 *4CH 12,000
Otz AAS 9K - &
= 2,000,0002 %14 2,000
206 M=l 20,000 30,000 10,000
01 M= H| 20,000 30,000 10,000
O%dit= del(MelMz, o3,
s) 20,000,000 * 14| 20,000
TR o eRal 174,960 174,960
402 212tXH=0] 174,960 174,960
03 2IZHRETALS 174,960 174,960
O+ HIS O (&, X)
174,960,000 * 14| 174,960
S 2,800 53,700 50,900
201 er=3| 1,000 2,500 1,500
01 At22t2l] 1,000 2,500 21,500
o544
1,000,000 14| 1,000
202 04l 1,800 2,200 2400
01 2LHoIH 1,800 2,200 A400
O=sda+2A &
1,800,0002 %14 1,800
SAtsIE =2 dE At 22,200 24,200 A2,000
206 M=H| 18,000 20,000 /2,000
01 Mz bl 18,000 20,000 22,000




s)|=HH 2 0 =A)
HESAZMS 25t
o2 etEEe e CHe &)
224 3. B(3H) - ASAY - BAS 0 &y e HIRS2
Oz3lflg 472 18,000,000 * 14 18,000
301 LEENZ 4,200 4,200
14 JIEtE A3 4,200 4,200
O=ETR S8 BN BHBY
140,000 * 152 x2H 4,200
EgY =& 23| 4,000 7,000 /3,000
202 04t 4,000 7,000 A3,000
01 ZLHOHI 4,000 7,000 3,000
OJEge g2 =
20,000& x3H 503 3,000
OIEYHBH AL (L) oY
20,0002 x 15 +503] 1,000
sS4 29 158,040 157,560 480
J| 79,020
& 15,804
Al 63,216
402 QI2HXH20I ™ 158,040 157,560 480
Dl 79,020
= 15,804
Al 63,216
03 Q2RI EFAIH I 158,040 157,560 480
O=sgHc=2g 158,040,000 * 14| 158,040
J| 79,020
= 15,804
Al 63,216
SIS KR (02t 481,782 756,524 N2T4,742
= 272,171
= 49,088
Al 160,523
201 Let2HH| 15,000 0 15,000
= 7,500
& 2,250
Al 5,250
03 SHAIZHHI 15,000 0 15,000
OJtsdtddtaEds 15,000,000 * 14 15,000
= 7,500
& 2,250
Al 5,250
206 MHEH| 287,619 513,386 225,767
= 176,004
& 25,077
Al 86,538
01 =8I 287,619 513,386 225,767




A= sYI|IsUH A =L
B HBEAAB U
Rl FAE oHEyS 2| EER=E)
4224 - HE - B9I(EH) - AIRAY - B of v e HIDE2
OJt=gs(24) 232,519,000 x14] 232,519
= 148,454
== 16,812
Al 67,253
ONBASAE EHEL SHE ASOHE
2 LH=ES S 7Y 55,100,000& » 14 55,100
= 27,550
[ 8,265
Al 19,285
301 EtE NS 63,655 85,498 N21,843
= 30,913
< 7,710
Al 25,032
14 JIEt2 8= 63,655 85,498 A21,843
OFLAEELXE PSSElz X3
9,900 x290CH* 1201 2 +50% 17,226
= 8,613
== 2,584
Al 6,029
OFot2EXE PS S| oAl HEFSSH
| 75 60,0002 *100CH 6,000
= 3,000
& 900
Al 2,100
O4 S2aely - 2y My
15,0002 %1,5005 22,500
= 6,750
< 3,150
Al 12,600
OOt SESZAE 01710 A x|
8,964,500 <22 17,929
= 12,550
= 1,076
Al 4,303
307 el2tol & 115,508 157,640 A2, 132
= 57,754
S 14,051
Al 43,703
02 2IZHB A E & 65,508 107,640 A2, 132
OMDHAIXI 2 109, 180, 000& *60% 65,508
= 32,754
& 6,551
Al 26,203
05 2IMRIE =3 50,000 50,000 0




SIS HE SN BN
FYFNBYEY L
o2 etEEe e EER=E)
T RA - BB O9(E0) - HRAY - BAS of v e HIDE2
OOISEHZEA &% U 2ZAIL FIE)
50,000,000& » 14 50,000
= 25,000
< 7,500
Al 17,500
TN XA 323,749 481,951 158,202
= 195,979
[ 30,204
Al 97,566
206 MH=HI 63,749 9,211 A31,462
= 36,179
s 5,514
Al 22,056
01 M= HI 63,749 95,211 A31,462
OZ 7N =4l 1,700& +7,0005 11,900
= 8,330
= 714
Al 2,8%
ORIl FHS 2ol 1, 7003 +5005 850
= 595
= 51
Al 204
Og84 TR Al 1,700& *4,5005 7,650
= 5,355
= 459
Al 1,836
OT M Al AEARSHA
330&%130,0005 42,900
= 21,450
= 4,290
Al 17,160
Oxg=+g 449,000 14] 449
= 449
301 EetE NS 102,000 134,240 A32,240
= 49,200
= 15,210
Al 37,590
14 DBt 23 102,000 134,240 A32,240
OA FHS HAFES A=t
6,000& 10,0005 60,000
= 30,000
= 9,000
Al 21,000




2| =HIE A 0 sS4
HEAABA U
AHE oHER S 2te| EER=E)
CRA - FB . O9(B) - NRAY - BAS ol b e HlmS2
Ogx A HARE Al=t]
11,0002 *3,0005 33,000
= 16,500
= 4,950
Al 11,550
O4 THS H2H(HYs)
10,0002 *9005 9,000
= 2,700
= 1,260
Al 5,040
402 IZERH=0IN 158,000 252,500 AA,500
= 110,600
= 9,480
Al 37,920
03 QI+ ErAA I 158,000 252,500 A94,500
OA FHY HA(MYs)
1,900 & *10,0005*50% 9,500
= 6,650
= 570
Al 2,280
OHX AHS HA(NMD =)
1,8002 * 165, 0005 *50% 148,500
= 103,950
= 8,910
Al 35,640
SHGY 949 2X IH 4,829 94,829 0
& 24,849
Al 69,980
101 eI H| 94,829 94,829 0
T 24,849
Al 69,980
M IIRHMZ2Z2XSE+ A,829 A,829 0
OMErYY wol Px2 X
2,070,725 +4B 1000 & 82,829
= 24,849
Al 57,980
OJsdgY SAS X BEE J|22(Al
HIZ=D1) 3,000,000 x4 12,000
HEE2aa 250,000 250,000 0
= 200,000
& 25,000
Al 25,000
301 LPENSZ 250,000 250,000 0
= 200,000
= 25,000




A= sYIIsdH A B4
M HESMFHY Lt
Rl FAE oHEyS 2| EER=E)
AR .24 A . AA(SH) - HEAIY - HE=2 Of| AFOH ST Hnz=2
SErTArSRt T == B Ofl r =e
Al 25,000
14 JIEt2 43 250,000 250,000 0
axe2aag N 2,500,000& *1005 250,000
= 200,000
= 25,000
Al 25,000
=g XA 15,600 2,400 13,200
= 4,680
Al 10,920
301 Et2E = 15,600 2,400 13,200
= 4,680
Al 10,920
14 J|Et2 43 15,600 2,400 13,200
OJN=RE L NS M=
80, 000 *3905+50% 15,600
= 4,680
Al 10,920
A HYsIE MY B A= XA 24,000 24,000 0
= 7,200
Al 16,800
301 EtE2E = 24,000 24,000 0
= 7,200
Al 16,800
14 J|Et24 =3 24,000 24,000 0
OZx=2A S S A=l X&
5,000& %4,8005 24,000
T 7,200
Al 16,800
ST AEMELASAIE 2l 15,000 20,800 25,800
201 2] 15,000 20,800 25,800
01 ArR2eltl 5,000 4,800 200
OHEASAIE IR 22l X
2,000,000 14 2,000
OHEBASAIE 2T E20HA!HI
200,000 =121 & 2,400
OHBASAIE MEES & 223 ¢
100,000& *62] 600
02 s324l 10,000 16,000 26,000
ONHEASAIE 29|
10,000,000& *14! 10,000
HE SHLAHES Al 2 X& 146,500 395,530 A249,030
& 43,950
Al 102,550
201 22 61,500 100,000 238,500




A= =804 SN 0 A0
B HBEAAB U
Rl FAE oHEyS 2| EER=E)
AR RA BB O(SH) - MSAY - BAS 0 &y e HIRS2
= 18,450
Al 43,050
01 AfR22lH| 21,500 60,000 38,500
ONEASAY, EWEL, SEE4 22| 9
Xl 21,500,000 * 14! 21,500
& 6,450
Al 15,050
2 332g| 40,000 40,000 0
ONBASAL, SHEL, SBEL 22|
40,000,000& 14! 40,000
= 12,000
Al 28,000
206 =4l 55,000 75,530 20,530
& 16,500
Al 38,500
01 =4I 55,000 75,530 20,530
ONBASAIE, EHEL, SAR ASE
L YgA=E 5 # 55,000,000 *14! 55,000
T 16,500
Al 38,500
307 QIZ2t0I ™ 20,000 200,000 180,000
= 6,000
Al 14,000
05 AI2tRE 2 20,000 200,000 180,000
OSHZL, SHE4 22 8% ¥ SANS
SIEH| 0,000,00024* 14} 20,000
< 6,000
Al 14,000
401 Al HIL 20| 10,000 20,000 A 10,000
T 3,000
Al 7,000
01 Al&HI 10,000 20,000 10,000
OsSH=EA, s&x=A MIANE 21SEX S
10,000,000 14 10,000
& 3,000
Al 7,000
=32 =& X3 48,000 48,000 0
= 14,400
Al 33,600
301 EtEXZ 48,000 48,000 0
T 14,400
Al 33,600
14 IIEI2 A= 48,000 48,000 0




A= SYI|=HE SA e
3 FF=MFYE 23
Rl FAE oHEyS 2| EER=E)
42 RA - ZB . G9(3D) - HRAMY - BYS Ol & A HlmE2t
O3=2lAl =& XI&
1,000,000& x4+ 1200 & 48,000
< 14,400
Al 33,600
Y MESSIOt HASHHM XNE 14,000 14,000 0
< 4,200
Al 9,800
206 MH=HI 14,000 14,000 0
[ 4,200
Al 9,800
01 THZ=HI 14,000 14,000 0
O=g HAsZM X2
10,0002 *1,400= 14,000
< 4,200
Al 9,800
Az 282 N3 4,070 4,070 0
< 1,221
Al 2,849
206 TH=HI 4,070 4,070 0
[ 1,221
Al 2,849
01 XH=HI 4,070 4,070 0
O F2E olgal XA
23,1002 1005 2,310
< 693
Al 1,617
OS0HK A ol AEINE 7Y
21,0002 x40 840
S 252
Al 588
OS50 At HASZH X2
11,5003 805 920
< 276
Al 644
=28 HgAAE 1= 500 2,000 21,500
< 150
Al 350
206 =4I 500 2,000 21,500
[ 150
Al 350
01 XH=HI 500 2,000 21,500
S 2EZY WA 102 +50,000== 500
[ 150
Al 350




SIS HE SN BN
HESAZMS 25t
o2 etEEe e EER=E)
224 3. B(3H) - ASAY - BAS 0 &y e HIRS2
IIENMEY dMsI MY 2 AS oty XIR 20,410 0 20,410
J| 14,287
T 1,837
Al 4,286
301 EtEXZ 20,410 0 20,410
J| 14,287
T 1,837
Al 4,286
14 J|IEtE A4S 20,410 0 20,410
OYE=I} ASAHHNZ
20,410,000& 14! 20,410
J| 14,287
= 1,837
Al 4,286
SIS olger X 128,400 256,800 128,400
= 38,500
Al 89,900
206 MHE4| 128,400 256,800 128,400
== 38,500
Al 89,900
01 MHZHl 128,400 256,800 128,400
OHHXISED| Al X
3,000& *26,9005 80,700
& 24,200
Al 56,500
OHXIMAD|ISEIIESE2HAl X
2,000&*23,8505 47,700
= 14,300
Al 33,400
SOt gt g ASAIA - &Y X 2,500 2,500 0
& 750
Al 1,750
402 QIZ2HRH=20I ™ 2,500 2,500 0
T 750
Al 1,750
02 QI2ZIXIEMLEX(OIXMTHE) 2,500 2,500 0
OYsAld &XIdl X
5,000, 000& * 17 2 *50% 2,500
= 750
Al 1,750
U==IF ASF g z2te| XA 10,000 10,000 0
& 3,000
Al 7,000
402 QIZ2HX=20I ™ 10,000 10,000 0




s)|=HH 2 0 =A)
FEMFHH L3
o2 etEEe e EER=E)
= - 2AM - ZH - SA(FH) - NRAIY - B E Off &K ag% Hws2Z
[ 3,000
Al 7,000
02 QI 2 AL E X (0IETHR) 10,000 10,000 0
OO0tZ2IIIHXIZE sUHYAAIE S X2
10,000, 0002 *2H 2~ *50% 10,000
< 3,000
Al 7,000
X IIEAEY BAKE AlE HFL XA 25,000 0 25,000
< 7,500
Al 17,500
301 LEIEN S 25,000 0 25,000
[ 7,500
Al 17,500
14 IIEt2 8= 25,000 0 25,000
Og=sJt 24 ZA Mgl X2
25,0002 +1,0005 25,000
T 7,500
Al 17,500
Sits) FFHE 2,145,8% 1,807,246 333,648
= 100,000
7 267,272
[ 368,312
Al 1,410,310
EAAIE EZ20HE K2 A 80,000 110,000 230,000
402 RIR”FXH=201 A 80,000 110,000 A30,000
01 QIEN 2 AL EZ (XM TH ) 80,000 110,000 30,000
OSAAIE AIE(ZH]) & JIXH X
100,000, 0002 *50% 50,000
OFMAS HES X
12,000, 0002 *5H 2 %50% 30,000
NS SLAE &Y 30,000 70,000 240,000
[ 9,000
Al 21,000
402 RIR”EXH=201H 30,000 70,000 240,000
[ 9,000
Al 21,000
02 QIR 2 AL EZ(0IETHR) 30,000 70,000 240,000
OXlsg F&AIE X2
60,000,000 *50% 30,000
< 9,000
Al 21,000
Hsatg 2geE X 13,240 22,550 19,310
(= 3,972
Al 9,268




A= sYIIsdH A 0 sS4
M FESFAFHEA L3t
Cel: SasIE et (SH9 H2)
AR .24 A . AA(SH) - HEAIY - HE=2 Of| AFOH ST Hnz=2
SErTArSRt T == B Ofl r =e
307 QI2HOl A 13,240 22,550 29,310
& 3,972
Al 9,268
02 QIRHHAAIHE X 13,240 22,550 A9,310
Onssg ZaEHH X2
40,0002 *4105*50% 8,200
= 2,460
Al 5,740
OSE - &AL XIF 34,0003 *1205F*50% 2,040
T 612
Al 1,428
OMANIE Z2aH XI&
10, 0002 *600kg*50% 3,000
& 900
Al 2,100
HS=8E N3 A 8,400 12,000 A3,600
307 2Iz2+0l™ 8,400 12,000 A3,600
02 QIRHEAAIEE R 8,400 12,000 A3,600
Onsg 24 ZH 1
40, 000& *4205*50% 8,400
SHE) - 82 AIBsIH Al X1 250,000 300,000 250,000
402 QIZHRH=0IN 250,000 300,000 250,000
03 RI2HRIEF AN I 250,000 300,000 250,000
OsH(R) - 82 MEsIH AIE & 7] &2
A& 16,0003 62, 5003 *25% 250,000
SMAEAY MH=Hl XA 16,000 20,000 24,000
201 Ler2 | 3,000 5,000 A2,000
01 At 22|l 3,000 5,000 22,000
OZUIgX, S22 NIH L 2 85 s ¢
2 3,000,000 * 14 3,000
206 M= 4l 13,000 15,000 22,000
01 M=l 13,000 15,000 22,000
OZAtZ THEH & sS4tz DA & 2
13,000,000 & 14! 13,000
SitsIt FHeE A 23] XA 3,000 6,000 A3,000
202 Ot 3,000 6,000 A3,000
01 =04l 3,000 6,000 A3,000
OF4tsIF 2Z oY JRFAZFH|
20,000 *3H*502] 3,000
NEE MRNEEAZ) 2 X 160,000 200,000 240,000
402 QI2ERH=01 N 160,000 200,000 240,000
03 QI2HRErAL ] 160,000 200,000 240,000
OMR HEAtE F22dl 22 X2
10,0003 *80, 000X *20% 160,000




A= SYI|=HE SA e
3 FE=MFYE 23
Cel: SasIE et (SH9 H2)
A 2A - ZB . S(3H) - HIRAY - BAES Ofl Ao Oﬁ]gﬁ HR=2
StuPRE AR 304,750 360,000 A55,250
2l 182,850
< 24,380
Al 97,520
301 LEEN S 304,750 360,000 A55,250
pJ 182,850
< 24,380
Al 97,520
14 JIEI2 4= 304,750 360,000 A55,250
ORaemaal N
5302 %2, 300 x250 304,750
pJ 182,850
< 24,380
Al 97,520
SMSO0IETALE 17,280 17,280 0
) 8,640
< 1,728
Al 6,912
402 RIZEAHZ01H 17,280 17,280 0
) 8,640
< 1,728
Al 6,912
03 2IZHAETAIS I 17,280 17,280 0
O4 HESH|(oz2e]) X
9,600&*1,8005 17,280
) 8,640
< 1,728
Al 6,912
4= E201 X 15,720 31,440 n15,720
< 4,716
Al 11,004
307 2IZto1 15,720 31,440 A 15,720
(= 4,716
Al 11,004
02 2B HAHE L 15,720 31,440 A15,720
O=4tsIt 201 215 X
2,620, 0003 2 «6IH 3 +50% 15,720
< 4,716
Al 11,004
SMSHYY AL HE N2 A 2,000 4,000 »2,000
< 600
Al 1,400
402 RIZEAHZ01H 2,000 4,000 22,000
& 600




A= SYI|=HE SA e
3 FE=MFYE 23
Cel: SasIE et (SH9 H2)
AR A O () - HEAIY - BAES2 Off AkoH S HDR=2
Smo AR e T == B Ofl &k ==
Al 1,400
02 RIENZASEZ (01 THR) 2,000 4,000 22,000
OSASES A AMIIRN KA
4,000, 000& *50% 2,000
& 600
Al 1,400
SAE AAM2e] XA 10,500 10,500 0
402 RIZEXH20IH 10,500 10,500
01 QI X2 AL E X (KEHITHE) 10,500 10,500
OF4t= I X&H
21,000,000 *50% 10,500
Setsor & HHE HACCP I 10,000 44,700 A34,700
< 2,8%
Al 7,105
402 QIFXH=201H 10,000 33,500 23,500
(= 2,8%
Al 7,105
02 QI T2 AL EE (01X THE) 10,000 33,500 £23,500
OHACCP Al& - ZH| S XIR(ZE)
20,000,000 *50% 10,000
< 2,8%
Al 7,105
AFEEXMRY Ald HE X~ 200,000 0 200,000
< 100,000
Al 100,000
402 QIE X201 A 200,000 0 200,000
& 100,000
Al 100,000
02 SIINEANSEX(0IETHR) 200,000 0 200,000
OAFEZXMCIY &H| - FHl K&
400,000,000 *50% 200,000
< 100,000
Al 100,000
2RER SEE-ME JtXl M2 70,000 82,600 A 12,600
< 21,000
Al 49,000
307 2I2to1 ™ 70,000 82,600 212,600
< 21,000
Al 49,000
02 LB HAHEE 70,000 82,600 A 12,600
OZete e X2
70,000,000& *100% 70,000
[ 21,000
Al 49,000




A= =YI|=HEH A . FA
A HBMAY U3
Cel: SasIE et (SH9 H2)
AT SN FE . B(BH) - HSAY - B ofl vy aET HD=2
d=-FA-85%-8 o 8= = ofl &b s2
IAS MAH Y ZASEAN HH| XA 100,000 100,000
402 SI2tXHE0| & 100,000 100,000
01 CIZFHEAIS SR (KHMITHS) 100,000 100,000
OZXAISMAO|IE J|H - EHIXIR
200,000,000 *50% 100,000
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oMEXA MI|etH AL CHE 2
110,000& x 123 1,320
o MR ROIZHIAIAR =2
190,000« 12& 2,280
2 SES29| 52,510 60,550 8,040
OMEX A KT H82H =2
430,000+ 122 5,160
OMEXA &3 800,000& =123 9,600
OUsE s =*34|
1,8502 *1,0002| & 1,850
oYt sgJIH 282
170,000& *70CH 11,900
OMEXIZ AlE I ()& g2l
400,000 *60CH 24,000
SHX A 2 35,160 61,400 N26,240
201 L2 | 35,160 26,400 8,760
01 Ar22eltl 5,600 2,000 3,600
O=SHKN A LerZH| 2,000
OAMNRES S 7Y 2,000,000 *14] 2,000
Oztels84| 3,600
oSHKIA M)t A HE 2
110,000& x 123 1,320
o=ZHIKA ROIZHIAIAR =2
190,000& 122 2,280
02 SE==29| 29,560 24,400 5,160
O=Z2HRK L KT HEBH =2
430,000+ 128 5,160
O=HRK A &3 800,000 =12 9,600




A= sYIIsdH PN RSXEL
M sgUNE=EH
&l s (SH9 H2)
AR .24 A . AA(SH) - HEAIY - HE=2 Of| AFOH ST Hnz=2
SErTArSRt T == B Ofl r =e
oYt sYJIH 282
170,000 *40CH 6,800
O=2AXN L NS JIA.EEl 7XI22]
400, 0002 *20CH 8,000
SIIH LOHAIE XI& 145,000 215,000 270,000
T 42,500
Al 102,500
405 Kt S| 145,000 215,000 270,000
& 42,500
Al 102,500
01 XL = SH = 145,000 215,000 A70,000
AUE sYIIH 2 (SHHe)
93,000,000 *1CH 93,000
& 27,259
Al 65,741
O2tHE =I1H 2 (€=01)
22,000,000 *1CH 22,000
T 6,448
Al 15,552
OoYdUs sYIIH (2 R==&D])
30,000,000 *1CH 30,000
& 8,793
Al 21,207
ZHEEE SAXA D= 7,227,962 9,504,333 N2,276,371
= 5,000
= 3,507,901
Al 3,715,061
324 2XE 7,086,402 9,375,042 A2,288,640
T 3,505,701
Al 3,580,701
ZEF sugal XFAY 6,133,058 9,299,490 23,166,432
= 3,006,529
Al 3,006,529
308 AEXIEHMSOIH 6,133,058 9,299,490 23,166,432
s 3,006,529
Al 3,066,529
08 WFI|IZ0USE X 6,133,058 9,299,490 A3,166,432
Ozgtd stugal X2 (A3l)
6, 133,058,000 *100% 6,133,058
= 3,006,529
Al 3,006,529
ZeE (%) sat2 suzgal X 953,344 0 953,344
& 439,172
Al 514,172




A= sg)|=dH PN RSXEL
M ZZEE GAXE JIE=S
ol s584 28XE (SH9 H2)
AR .24 A . AA(SH) - HEAIY - HE=2 Of| AFOH ST Hnz=2
STrTATSRtE T == B Ofl &k o se
308 REXISHMSOIH 953,344 0 953,344
= 439,172
Al 514,172
08 W=J|20ICHEHE = 953,344 0 953,344
Orlgd (=) A4 X
878,344,000 x100% 878,344
= 439,172
Al 439,172
OrEA(R%) AMZHl XA (AHIFEI
75,000,000 *100% 75,000
2EC sHXE 61,000 52,291 8,709
= 5,000
= 2,200
Al 53,800
SH S AAL 3,400 5,491 A2,091
= 1,000
Al 2,400
307 QI2Hol A 3,400 5,491 A2,091
= 1,000
Al 2,400
02 QIRHEAAIHEE X 3,400 5,491 A2,091
Os4ESHE 8 H A 4,000, 0002 »85% 3,400
= 1,000
Al 2,400
AlMEs 2IXA 30,000 30,000 0
307 2I2+01 ™ 30,000 30,000
02 QIR AAIHEE R 30,000 30,000
OalME s 30,000,000 *100% 30,000
SZIC 243 2N 4,000 4,000 0
= 1,200
Al 2,800
307 QI2Hol M 4,000 4,000 0
= 1,200
Al 2,800
02 QIHBAAIHE X 4,000 4,000 0
OZZEE 243 2ZXHA
8,000, 000& *50% 4,000
= 1,200
Al 2,800
SZEIC ARFA (Y| 3,600 4,800 21,200
202 Ot 3,600 4,800 21,200
01 =LHOLI 3,600 4,800 21,200
OZZEE YRFA ¢dl
20,0002 +3E +603! 3,600
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A= sYI|=HE 2A SRS
M ASEsHES ZHHYG
Hel: stteRsSEds (SH9 H2)
A= 24 - 3 SR(3) - NIRAY - BES Off &K %E% HusZ
O=Sb4t2 82 ¢ =) 212tel o2t
100,000& 4 & +82 3,200
SSHEHI 20,020 247,940 £227,920
= 10,010
= 3,000
Al 7,010
307 212t01 & 20,020 247,940 A227,920
= 10,010
(= 3,000
Al 7,010
02 QIABAAHER 20,020 247,940 £227,920
Osde SSHEH N
100, 100, 000& *20% 20,020
= 10,010
(= 3,000
Al 7,010
s4E A1 Sbigl X 32,000 50,600 18,600
== 9,600
Al 22,400
301 L2 32,000 50,600 18,600
= 9,600
Al 22,400
14 J|EtE2 8 S 32,000 50,600 A18,600
Os4r2 )il &byl X1
4,000& 16,0004 *50% 32,000
= 9,600
Al 22,400
GAPRIS S I M 2 AHIXI & 4,320 3,572 748
= 2,160
S 648
Al 1,512
307 QIztol ™ 4,320 3,572 748
= 2,160
S 648
Al 1,512
02 QItESAIEE X 4,320 3,572 748
OGP ESDL St E Al X1
4,320,000 *100% 4,320
= 2,160
= 648
Al 1,512
LEsHE Eot =2 X& 60,000 75,000 A 15,000
301 2 E = 60,000 75,000 A 15,000
14 J|Et2 a3 60,000 75,000 A 15,000




A= sYI|=HE 2A SRS
M ASEsHES ZHHYG
Hel: stteRsSEds (SH9 H2)
A= 24 - 3 SR(3) - NIRAY - BES Off &K %E% HusZ
O=s¢g ot =45 XY
60,000,000 x 14! 60,000
NessSHHA 75 X2 258,000 64,196 193,804
= 129,000
= 64,500
Al 64,500
402 SIZERHE0| M 258,000 64,1% 193,804
= 129,000
(= 64,500
Al 64,500
02 QI X2 AL EE(OIHTHE) 258,000 64,196 193,804
OXME M&L &X X&
430,000, 000 *6(0% 258,000
= 129,000
(= 64,500
Al 64,500
ZESLE ZUHAIE Al8E& 307,000 200,000 107,000
401 AlIEHIZL 2 OHYI 307,000 200,000 107,000
01 A&l 307,000 200,000 107,000
OB WHSAHIAXRL)
307,000,000 *14] 307,000
SSiE B2 @At 8,000 10,000 22,000
201 =3 8,000 10,000 22,000
03 HAI2HI 8,000 10,000 A2,000
OsSL=2 S28A 8,000,000 * 14! 8,000
MAsE MMEBAE X2 43,750 0 43,750
= 13,125
Al 30,625
402 SIZERHE0| M 43,750 0 43,750
== 13,125
Al 30,625
02 QI THE2AIEEE(0IMTHE) 43,750 0 43,750
OtIRsS MEHEAIL X
87,500, 000& *50% 43,750
S 13,125
Al 30,625
HY2SZH(RSX2 1) 95,830 97,321 A1,491
= 4,000
Al 91,830
eI 2] 56,940 54,691 2,249
= 4,000
Al 52,940
A=)l 23 XA (SRA) 56,940 54,691 2,249
= 4,000
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300
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1,800
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MEE
Ofl &k2h
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2,000
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2,300

28,250
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1,000

2,000

Ofl &F2H
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8,920,507
126,913

Il

H

909,767
6,997,473
8,829,497

886,354

126,913

Al
Il

H

909,767
6,906,463
1,042,615
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963,39%
7,100
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2,700
2,700
1,200

Al
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1,800
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&ol=HE 2 JlsE3n
GSEEEEY MllsE2
NSRS OFE M Al (ehol:®el)
LA B - S9(E) - AISAY - BES of v e HIDE2
03 Al ZERIAREAY| 1,680 2,000 320
OJlz22 AneEs
1,680,000 %14 1,680
206 MH=H| 20,500 20,500
01 M=4l 20,500 20,500
OlZg=2d N2 1,500,000& %14 1,500
SSHINAAEZ 2
9,000,000 * 104 2 9,000
OFSP2E HEUN 29
10,000,000 *10H 2~ 10,000
301 EtE NS 1,500 2,000 A500
11 #AIAHIXIZ S 1,500 2,000 A500
OAEHE20F s 0H|
100,000& %15 1,500
S AHME Jlsst 36,900 40,900 24,000
201 =3 4,900 4,900 0
01 AlR22lH| 4,900 4,900 0
Obl 23Z || NEMEBE AX2 L 22 ¢
A= 4,900,000 *14] 4,900
206 M=l 32,000 36,000 24,000
01 MZH| 32,000 36,000 24,000
OH ESEI1l NHEMSE 29
8,000,000 *4H 2= 32,000
s HZEZE A 2E 30,000 30,423 A423
= 5,100
Al 24,900
101 @124H| 30,000 29,509 491
= 5,100
Al 24,900
M ORINZZENSES 30,000 29,509 491
SHE GollE GlFR. M 1AY| 10,274
S 95,2003 x 1 »85 8,092
= 4,046
Al 4,046
oFFd 95,200 18 %10 952
2 476
Al 476
oItRard 95,2003 x 1 =2 191
= %
Al %
cAUEE = 9,235,000 *11.25% 1,039
= 483
Al 556




A= =)l SN JlE22D
HE: SNSBISA ISR
SHRl AIZRS OHY AN (o) @)
424 - ZH - O9(E) - MRAY - BES ofl & A HDS
OSX2 Yol N AT 29 2121H|(
NERESD 19,726
oolza 95,2001+ 12 %1532 14,566
S 95,2002+ 12 +262 2,476
coRRI4Y 95,20021%1 452 476
c4i2ER 17,518,00024%12. 6% 2,208
SRS HilE AHE 2 6,900 6,900 0
= 2,070
Al 4,830
206 THE bl 6,900 6,900 0
= 2,070
Al 4,83
01 THZHI 6,900 6,900 0
SN2 YIS BEE 2
4,140,00021%14] 4,140
= 2,070
Al 2,070
OSX2 Bl BEE 2Y(AUIZI
2,760,002 14} 2,760
H HolS s2eH N9 181,440 181,440 0
402 BIRIXHZO| 181,440 181,440
03 SI2HSIEt ARt 181,440 181,440
O HalE STUHH X2 (S
90, 0002141, 5000233 6%+43] 181,440
B HoE HOIYH SoX 529,920 496,504 34,416
402 RIRIXHZ 01 529,920 496,504 34,416
03 SI2HRIEt ALt 529,920 495,504 34,416
Off EalE =IIH Soxe
80,00021+2, 400ha+60+4 63! 529,920
DUTLA MBS NGRS A 28,000 32,000 24,000
402 BIRIXHZO| 28,000 32,000 24,000
01 QIRIXHR AR B Z (RAITHE) 28,000 3,000 4,000
ODBXAK MES XHNS AlEAY
35,000, 00021 +80% 28,000
EEWEEESIENPITES® 4,000 4,000
402 RIRIRH 201 4,000 4,000
01 SIIXHR A B E (RAITHE) 4,000 4,000
OFT ABE T2 JIPEA
5,000, 00021 +80% 4,000
FSa4 UBS 23 16,000 16,000
402 BIRIXHZOIH 16,000 16,000
01 SIRIRHRARS S Z (RHAITHE) 16,000 16,000
OES44 MBS 23
20,000, 00021 +80% 16,000
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A= sg8)|=dH 2A I3
Hu: SNSEIEN MIIE2Z
ol JAWEHZ2 CHEMAL (CH9: &S1)
AR RA BB B(S) - MBAY - B O &kt A tImE=T
J| 2,250
T 540
Al 2,160
402 QIZ2HR=201 ™ 4,950 63,250 58,300
| 2,250
& 540
Al 2,160
02 QIZIXEAIE EE(OIMTHE) 4,950 63,250 58,300
OAEJ0 st XA
9,000, 000& *55% 4,950
J| 2,250
& 540
Al 2,160
g oldXoIEaESsHUIUXIZEZAIEXE) 5,338 20,000 A14,662
J| 2,426
& 582
Al 2,330
402 QI2E X201 ™ 5,338 20,000 A14,662
| 2,426
= 582
Al 2,330
02 QIZEXHEAIZ 2 (01 THE) 5,338 20,000 A14,662
OsgodxioIEgssHHXIZEZAIA)
9,706,000& %54 . 9% 5,338
| 2,426
= 582
Al 2,330
ICTESE XA (ANEE NEES) 187,532 0 187,532
| 85,242
= 20,458
Al 81,832
402 QI2EXHE20I ™ 187,532 0 187,532
J| 85,242
T 20,458
Al 81,832
02 QIZIXIEMEEX(OIXMTHE) 187,532 0 187,532
OADIER A&EEZ
340,968, 0002 *54 . 9998% 187,532
J| 85,242
T 20,458
Al 81,832
D= HIOHE THERAIE 80,725 0 80,725
J| 32,290
T 9,687




A= sYIIsdH M JlzEat
M SMESBHEL MIIsE=S
Rl 20EHS ot (SH9 H2)
AZ 24 - 3H - () - HRAY - BEZ Ofl kel OE:IEF% Hlunsz
Al 38,748
402 CI2ER=0lH 80,725 0 80,725
| 32,290
& 9,687
Al 38,748
02 QIZEXHR AL B (01X W) 80,725 0 80,725
OLZFHIOHE THHHAIE
161,450, 0002 *50% 80,725
| 32,290
& 9,687
Al 38,748
AER0 23 A 7,500 12,500 25,000
& 2,250
Al 5,250
402 SI2ERH=E0IH 7,500 12,500 A5,000
= 2,250
Al 5,250
02 QIZIXEAMEEE(OIXTHS) 7,500 12,500 A5,000
OA&J0 S3Hs 15,000, 0002 *50% 7,500
= 2,250
Al 5,250
DI AZE = 22 Jls MY 50,000 0 50,000
= 25,000
Al 25,000
402 QI2EXHE0IH 50,000 0 50,000
= 25,000
Al 25,000
02 QIZEXH2 AL 22 (01 & &) 50,000 0 50,000
OZI| MES &l B2 Jlzs A
50,000,000& *1ha*100% 50,000
= 25,000
Al 25,000
HIOIRXt ¥ X & AIZMEHK 240tA 2= Jl= 30,000 30,000 0
}\|l:H
= 15,000
Al 15,000
402 CI2ERH=0IH 30,000 30,000 0
= 15,000
Al 15,000
02 QIZEXH2 A 22 (01 & &) 30,000 30,000 0
OHI0I2X & X 2= AIZUIX 240
A 24=E JlE AY
30,000, 0002 *17H 2% 100% 30,000
= 15,000
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=: seJlsdH M JlsEs

o= SUEo=2oo

K XH: A2 EZXRISEAF Hjl%!:l:.
D ORAGIRS QF A

= (S5 &R
A= RA - B C(BH) - HRAY - BSS Ofl &4 Oﬁ]gﬁ HDZS2
= 1,250
Al 26,250
02 RIZEXHZ AR 2% (01 F TH) 37,500 37,500 0
Ol MARE X2 75,000, 00024 %50% 37,500
= 11,250
Al 26,250
NS0 EZNER X2 60,000 50,000 10,000
402 Q124 XH2 0| 60,000 50,000 10,000
01 RIZEXHZ AR 22 (RHRITH ) 60,000 50,000 10,000
OAlZ2io] ERNEEH Xl
120,000, 00024 *50% 60,000
NETHHHT BXEE Il = 15,000 0 15,000
402 Q124X 0| 15,000 0 15,000
01 QIZFXHZ ALY 2 (XA TH ) 15,000 0 15,000
OAN&THINN XS Jl& T
30,000, 00024 *50% 15,000
ODSNsa2 A3 X2 30,000 30,000 0
402 Q124XH2 0| 30,000 30,000
01 RIZEXHZ AR 22 (RHRITH ) 30,000 30,000
OLSHsaE AXI| X
2,000,00024 x30CH *50% 30,000
oIF WFHKIY EADIMERH S N 913,400 913,400 0
= 190,800
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Al 678,080
402 QI24XH2 0 913,400 913,400 0
2 190,800
= 44,520
Al 678,080
03 RI2I9IEARRLH] 913,400 913,400 0
OQ=t WX EA0IMEMA S X
636,000, 000 +65% 413,400
2 190,800
= 44,520
Al 178,080
O WFHKS EL0MSHH S K (Al
HIZOH 1,000, 000,00024 *50% 500,000
WAHHE LR NA(DBNMA HHMA TA) 325,036 325,036 0
= 38,400
Al 286,636
402 QI24XH2 0| 325,036 325,036 0
= 38,400
Al 286,63
03 RIZHRIEtAFRIH] 325,036 325,036 0
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Off &bod
OMAHollEs LM X2
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< 38,400
Al 89,600
OMAEaHE LM X (AHIFI
197,036, 0002 *100% 197,036
E2 HillE 2HE ELAS)| AD|E Al 30,000 0 30,000
= 15,000
Al 15,000
402 DI2FXH20| M 30,000 0 30,000
= 15,000
Al 15,000
02 QI TH=2AIEEE(0IMTHE) 30,000 0 30,000
OEY golls gHE ELA=I| AII= Al
= 10,000,000 *3ha*100% 30,000
= 15,000
Al 15,000
AN S SHAMLXE 28 SSUHH WA 2= 6,250 6,250 0
= 1,875
Al 4,375
206 M=z dl 6,250 6,250 0
= 1,875
Al 4,375
01 M=z Hl 6,250 6,250 0
Ozdgolis St XE /At SEUSHA
FEMNAENSE) 6,250,000 *14] 6,250
< 1,875
Al 4,375
llsss HEMA I olZe} &5 320,000 0 320,000
= 160,000
Al 160,000
402 RI2FXH20| ™ 320,000 0 320,000
[ 160,000
Al 160,000
02 QI 2 AL EZ(0IETHR) 320,000 0 320,000
O3lstt= ot & olde &5
640,000, 0002 *50% 320,000
< 160,000
Al 160,000
DI A ESYH AIY 31,500 63,000 A31,500
307 @lztol ™ 31,500 0 31,500
02 QIIHAANSEE R 31,500 0 31,500
Ol A S22 AlY
45,000,000 *70% 31,500
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A= sYIIsdH 2 JlsE3n
3N st=3degd MIIs2E2
Rl S5 oty YLt (SH9 H2)
424 - ZH - O9(E) - MRAY - BES ofl & A HDS2
Yzt dEEZ SIHAXE 80,000 80,000
402 12HXH=201H 80,000 80,000
01 QIR AL L R (KA ) 80,000 80,000
Odt=s0t &2E SIIHAXNE
20,000, 0002 8CH*50% 80,000
HA QLY HAAIE AlE 32,000 32,000
402 212HXH201H 32,000 32,000
01 QIZENH2 AP 2 (RERITH ) 32,000 32,000
ObiA 2824 MaAlg Alg
20,000,000 +20H 2= +80% 32,000
Jl=Hst S (2 A+-SE Al 84,000 80,000 4,000
402 2I2EXH201H 84,000 80,000 4,000
01 QI RZ AL L R (KA ) 84,000 80,000 4,000
OJI=ds g Sti(2t)2+ |4 X2
60,000, 0002 <24 2:+70% 84,000
Z& SIEGME Olsga Al 40,000 40,000 0
402 212HXH201H 40,000 40,000
01 QIZENHE2 AL 2 (RERITH ) 40,000 40,000
OXEL BH=ELTHHH JDI=gta AlY
50,000, 0002 «80% 40,000
J=HelS NSS4 A 47,500 47,500 0
402 QI2EXH2 01 M 47,500 47,500
01 QIZRFZ AL L (KA T &) 47,500 47,500
OJI=HsiS A=Ss4 MY
9,500,000 «10S+50% 47,500
=t2el Eolils g = 47,000 47,000 0
= 23,500
Al 23,500
[ elal] 28,213 27,89%6 317
= 14,106
Al 14,107
M 1N 22 RS2+ 28,213 27,8% 317
O=Jr2te| Eais dre 2r2y| 28,213
ollE2s 95,2002 *1H*200& 19,040
= 9,520
Al 9,520
oxgad 95,2003+ 18 =40 3,808
= 1,904
Al 1,904
oAt =G
17,8502 x1H+BAI 2H+ 102 1,428
= 714
Al 714
cAXNFRSRIIE 95,2002 *9 857




a3 sYII=dd P ==;
M SHSFEEN MIIsEs
Rl WeSE HE AN (SH9 H2)
AR .24 A . AA(SH) - HEAIY - HE=2 Of| AFOH ST Hnz=2
Smo AR e T == B Ofl &k ==
= 428
Al 429
c4HEBEE 25,132,800 +11.26% 2,830
= 1,415
Al 1,415
oJHollES YT L=hl
250,000 & * 14! 250
= 125
Al 125
201 L2 8,787 9,104 A317
= 4,34
Al 4,393
01 Ar2teltl 8,787 9,104 A317
OAtR2e|t] 8,787
o=Ji2te| Haols M 2EHEE S
5,787,000 * 14! 5,787
= 2,8%4
Al 2,893
odolls PRI WFH|
3,000,000 *14] 3,000
= 1,500
Al 1,500
206 =4I 10,000 10,000 0
= 5,000
Al 5,000
01 =4I 10,000 10,000 0
OMZHl 10,000
o=tz HollE MM 2
10,000, 000& x 14! 10,000
= 5,000
Al 5,000
s&=2 dollE 2Hbl 46,900 31,300 15,600
= 23,450
Al 23,450
206 =4I 46,900 31,300 15,600
= 23,450
Al 23,450
01 =4I 46,900 31,300 15,600
Ont==3tald 22Nl
26,400,000 * 14! 26,400
= 13,200
Al 13,200
Osgais &l 16,000,000& * 14! 16,000
= 8,000




A= sYIIsdH 2N JI=sEs3
. sMESEEEY MI=E=S
Rl WeSE HE AN (SH9 H2)
AR .24 A . AA(SH) - HEAIY - HE=2 Of| AFOH ST Hnz=2
SErTArSRt T == B Ofl r =e
Al 8,000
OMAENS LRI
4,500,000 14! 4,500
= 2,250
Al 2,250
HIZOIRASUHSALY 52,250 61,750 29,500
& 13,200
Al 39,050
402 QI2ERHE01 & 52,250 61,750 29,500
& 13,200
Al 39,050
02 QIZEXHE AL E X (01 &THE) 52,250 61,750 29,500
OtldotASHAISE XA
8,000, 0002 *117H 2 +50% 44,000
& 13,200
Al 30,800
OBIZatRA S S AI X2 (AIBIF=DL)
1,500,000 *11JH 2 +50% 8,250
b= AN DA 25,000 12,500 12,500
= 7,500
Al 17,500
402 QI2ERHE01 & 25,000 12,500 12,500
= 7,500
Al 17,500
02 QI THEAIE 2R (0IMTHE) 25,000 12,500 12,500
Ot~ ZHAN DAL RIA
25,000, 000& *2ha*50% 25,000
& 7,500
Al 17,500
YA DA 34,300 49,000 214,700
& 10,290
Al 24,010
402 QI2EHE01 & 34,300 49,000 A14,700
= 10,290
Al 24,010
02 QIR AL 2 (01 & THE) 34,300 49,000 214,700
OYEUWE DIty At
70,000,000& 0. 7ha*70% 34,300
& 10,290
Al 24,010
XGgest &5 It d((Mel, II9)(HEAY) 364,000 364,000 0
& 182,000
Al 182,000
402 QI2ERHE01 & 364,000 364,000 0




S |=dH 2A I3
SHMUSEEEN MII=E3
S5 ohY WA (SH9 H2)
CHE . O () - ARAY - BAS A TmET
= 182,000
Al 182,000
C’_7F_(0|7(4XH$4) 364,000 364,000 0
OXgEsd YIS =4
45,500,000 *107H 2 *80% 364,000
& 182,000
Al 182,000
22 I RLeSSE SSHHA 24 Al 200,000 0 200,000
= 100,000
Al 100,000
402 2I2ERE s 200,000 0 200,000
= 100,000
Al 100,000
02 QIZIXHEAIE B E(OIMTHE) 200,000 0 200,000
OUNZS &2 U+ Re2ES Sl =
o Al ,000,000:& *5ha*100% 200,000
= 100,000
Al 100,000
NESE E2& CF QFOHTHHE Dl AIY 60,000 0 60,000
= 30,000
Al 30,000
402 2I2ERE s 60,000 0 60,000
= 30,000
Al 30,000
02 QI2H X2 AN ) 60,000 0 60,000
O=1e AE| CHEH Qrou Tl
60,000,000 * 170 2~ *100% 60,000
= 30,000
Al 30,000
2 ALTHEE DR 22 AlY 50,000 0 50,000
= 25,000
Al 25,000
912t | 50,000 0 50,000
= 25,000
Al 25,000
02 QI2+Xt (OI&THE) 50,000 0 50,000
IS =2 AIZTHEE R HE 2t Al
50,000,000& * 1ha*100% 50,000
= 25,000
Al 25,000
J|I=Hs AME O Ot CH =~ & AI™H 100,000 0 100,000
= 50,000
Al 50,000
12t X201 A 100,000 0 100,000




s)|=HH 2A 1 JI=E2
SHMUSEEEN MII=E3
S5 ohY WA AR
SA TR - BRA(S) - NISAY - BAS ol &t A 2
= 50,000
Al 50,000
02 B2 EAIS = E (0[R2 00,000 100,000
oorErh B4 £of A
100,000, 000& * 1ha*100% 100,000
= 50,000
Al 50,000
&= golilE oE - & BN 30,000 30,000
T 9,000
Al 21,000
101 214b| 28,213 28,213
= 8,464
Al 19,749
M IIZNZ2E2NESES 28,213 28,213
OPIE== 95,2003 * 1% 200 19,040
& 5,712
Al 13,328
O=5=Y 95,2003 * 1«40 3,808
T 1,142
Al 2,666
OAIZtel=E 17,8503 * 12 +x8A| 2t 10 1,428
= 429
Al 99
OHxREFIIH==E 95,2003 9 857
& 257
Al 600
odeg =z 25,132,800 *11.26% 2,830
T 849
Al 1,981
Odolis ZHE U= 250,000 %14 250
== 75
Al 175
206 MZ bl 1,787 1,787
& 536
Al 1,251
01 M=zl 1,787 1,787
Ogdl= MM ¥ Mz
1,787,0003 *14! 1,787
= 536
Al 1,251
et E3=0|8t &4 3,204,597 3,221,613 217,016
= 257,384
= 184,615
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A= sYIIsdH FAJIsEs
3N st=3Tgd MIIsE2
ol derdsgllet &4 (Gt H2)
A= 24 - Z3H - SA(Z) - HFAY - BES Ofl &y Ce [ ImE=r",
Ofl &bk
Ozletdsits ASFENY|
20,300,000 x60% 12,180
& 3,654
Al 8,526
B sAMSS 1,981 6,675 N4,694
= 594
Al 1,387
402 QIZEXHE 01 1,981 6,675 N4,694
< 594
Al 1,387
02 QIZFRFZ AL (01X THE) 1,981 6,675 N4,694
(OFSE= 1PNV == 3,962,000 +50% 1,981
= 5%4
Al 1,387
SIS K& 15,123 13,119 2,004
= 6,099
= 2,707
Al 6,317
402 RI2EXHE01 ™ 15,123 13,119 2,004
= 6,099
5 2,707
Al 6,317
03 It &AL 15,123 13,119 2,004
ORISR 30,246,000 x50% 15,123
= 6,099
== 2,707
Al 6,317
JEtE SsatE LM K& 6,000 6,000 0
L= 1,800
Al 4,200
402 212EX+=01H 6,000 6,000 0
& 1,800
Al 4,200
02 QIZHNHE AL E (01X THE) 6,000 6,000 0
O osstl= ZEMAE
10,000, 0002 *60% 6,000
= 1,800
Al 4,200
FII1EHIE S3(HetAtd) 2,287,738 2,187,738 100,000
< 100,485
Al 2,178,253
402 RIZEXHE01 ™ 2,287,738 2,187,738 100,000
< 109,485




A= sYIIsUH 2 JlsE3n
I Sy MisEs
el dEdsgolel &4 EER=E)
A 2A - ZB . S(3H) - HIRAY - BAES Ofl Ao Oﬁ]gﬁ HR=2
Al 2,178,253
03 QI+ EF ALY 2,287,738 2,187,738 100,000
ORJIZHIZ SS(HEAY)
1,387,738,000& x14] 1,387,738
< 109,485
Al 1,278,253
ORJIZblg 33(AHIF)
900,000,000 *14] 900,000
ESOHEH X3 347,022 300,261 46,761
= 223,332
< 61,845
Al 61,845
402 RIR”EXH=0I1 A 347,022 300,261 46,761
= 223,332
< 61,845
Al 61,845
03 212+ E A Y 347,022 300,261 46,761
OEHEM XA 347,022,000 *100% 347,022
= 223,332
< 61,845
Al 61,845
ZetZ s AT X=X 27,953 45,000 A17,047
= 27,953
301 LS 27,953 45,000 A17,047
= 27,953
B ds 27,953 45,000 A17,047
(OFSE= =iy EARS DA
27,953,000 «100% 27,953
= 27,953
fsf NE =M N2 13,600 13,450 150
< 4,080
Al 9,520
301 LetEAS 13,600 13,450 150
< 4,080
Al 9,520
B2 d= 13,600 13,450 150
O XL A= AR
13,600,000 *100% 13,600
< 4,080
Al 9,520
ZletZ A sl dE)|lz 3ENS 2,250 3,150 2900
< 450
Al 1,800
201 Zet=Eh] 2,250 3,150 900




A= sYIIsUH 2 JlsE3n
I Sy MisEs
el dEdsgolel &4 EER=E)
42 RA - ZB . G9(3D) - HRAMY - BYS Ol & A HlmE2t
< 450
Al 1,800
01 AlR2teldl 2,250 3,150 900
OZ&gded sgel d2JIs FEN3
2,250,000 *100% 2,250
< 450
Al 1,800
GOMO| M S XEOHHLD| X 49,000 49,000
402 QI+ X201 49,000 49,000
01 QI XHZ AL 2R (KM TH) 49,000 49,000
OGMOI ' 4E RO D] X
70,000,000& *70f% 49,000
SHEEE)IsES 421,004 418,825 2,179
= 12,000
2l 4,705
Al 404,299
HEdsy 2eld 29 27,476 33,000 N5,524
101 el 8,476 0 8,476
04 I H=22 RS2+ 8,476 0 8,476
OzlstZsgacia 8¢ 22| 8,476
=JlE2g 95, 2002+ 1H 662! 6,284
oFFrY 95,2002 x1&*12& 1,143
o= 95,2003 x1 =2 191
cNELNEERES
7,616,0003 %12 *11.26% 858
201 Zet=E] 14,000 18,000 24,000
01 Al2telsl 4,000 5,000 1,000
OANEZA ABRE L MRES
4,000,000+ 14! 4,000
02 33234l 10,000 13,000 23,000
O=323l 10,000
oMl AlE=AH
1,000,000 14! 1,000
cAN=24 FHIF Al
5,000,000 14| 5,000
oANZE4H JtAH 4,000,000& 14! 4,000
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SESEEY MlsEs
MESZI)|IsES (CH9: &S1)
SA BB BI(B) - MRAE - B A HIDEZ
olld= e Mz 2L
95,000,000& *14] 95,000
405 KHoHFSHI 85,000 85,000
01 ML ESFSHI 85,000 85,000
O0ld=aeIl 2 85,000,000 *14] 85,000
stsd 2¢ 126,123 125,801 322
101 eI24d| 79,123 88,851 N9,728
M ORNZZ2NSE S 79,123 88,851 N9,728
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